OFFROAD

SR-6 Installation Guide

Contents:

(6)- M8x1.25 Bolts

(12)- M8x1.25 Nuts

(12) M8 Small Washers

(6)- M8 Large Washers

(18) M8 Lock Washers

(2) Steps (Left and Right)

1. Begin by unboxing and inspecting the item for signs of damage. If damage
has occurred please call us at 951-680-9595.

2. Remove the factory Rubicon slider if equipped

3. Locate the driver side slider/ step (The steps will only line up one way

4. Insert the metal studs through the factory holes in the pinch seam of the
Jeep and secure with the supplied washers and nuts

£
2
e 1
.

SR
[

5. Now using the supplied hardware mount the 3 under body mounting points



- ‘

6. Tighten all hardware and repeat steps on the opposite side of the Jeep.




